SOUTH EASTERN UNIVERSITY OF SRI LANKA

FIRST YEAR EXAMINATION IN BUSINESS ADMINISTRATION & COMMERCE
(EXTERNAL) -2007 /2008 HELD IN MARCH / APRIL -2008

BBA / COM 12 (II) - COMPUTER LITERACY & BASIC APPLICATIONS - 11

Answer all Questions.

Time: 02 Hours

01.

02.

03.

04.

(i) Describe a data communication network?
(ii) Describe the main components of a communication model and the function of each component.
(ili) Explain why protocols are needed in a communication system.

(iv) What are the main network topologies and compare their advantages and disadvantages.

(25 Marks)
(i) Define the term database
(ii) Explain the use of database in a university administration and business organization
(iii) In the context of a data base explain the following terms using examples:
field, data type, field size and field property
(iv) Describe the purpose of creating relationship
(25 Marks)

(i) What do you mean by window explorer? Explain briefly the main features of window explorer?

(i) Explain the different methods to do the following processes in Windows Xp.
(a) Copying and moving files and folders
(b) Deleting files and folders

(iii)  State and describe the following features in Windows Xp
(a) Any three items in control panel
(b) Shutdown option
(c) Search option

(iv)  Explain the following terms as used in context of word processing package 2003
(a) Paragraph alignment
(b) Table creation
(c) Header and footer
(d) Document view
(e) Page setup

W) Explain the mail merging steps in word processing package 2003
(25 Marks)

(i) Write down the necessary steps to create a chart by using MS Excel 2003
(i) Distinguish the terms: Sorting data, Filtering data and Pivot Table
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(ili) Write down the formula to do the following

(a) To find Depreciation of a Machine in 2007.
Cost of Assets Rs.500,000/-
Salvage value Rs.20,000/-
Life time 5 Years
(b) To repeat a text @yahoo.com to five times.
(c) What do you mean by = sheet3!A10
(d) To find the average of B1: B5 and 60,70,80,and 90

(e) To get the sum of the square of the argument 7 and 8.

(iv) Assume that the cell pointer is any where in the worksheet. Write down absolute formulas to find
the commission for each customer separately in the following table

Jan Feb Mar
Mr.White 1250 5230 4250
Mr.Blue 3250 2500 4750
Mr.Red 4800 5200 3260
Commision 5%
Commision for the sales representatives
Mr.White
Mr.Blue
Mr.Red

(v) Write down the steps to do the following in the table given below

a) Al,BI1,C1,D1,ELF1
b) B4 To D5

¢) B7ToD8

d) B10ToDI1

e) F3ToF6

-

a .. This Text is
\\(\i@@ o= = ::IS text centered
@GP%&- ﬁ = E wrapged vertically and
’@% "\é{w\ bi'-‘ FE:—_ g & ‘to left Horisantally This text is shrunk to fit in this cell
~_Align Left , 0 ndent
This six cells merged into one cell | ~ Align Left 1 Indent
and bordered and centere Align left, 2 Indent

: Align Left, 3 Indent

Thic six cells merged into one cell
and double line bordered and aligned
to horizantal left

394N TVIILH3A

(25 Marks)
*kwkK
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01.

02.

03.

o)
(i)

(iii)
(iv)

()
(i)

(iif)

(v)

(i)

(ii1)

(iv)

)

&I6] QSTLIUTLE susmsowlenoinisnen alufls@s.

GaTLuTLsd pepewulst  Usnel uGHasmen eleaTeGaugiLal Jlenel @ealbauraIea S

eamPnurGeemenujd eifle@s.

@aTLIUTLSD (penmenulsd g6t Protocols sisuflwonengl eiaiuemg alend@s.

Main Network Topologies wirensu? sisupfienn siggneomiset HyHsmeomisenst @uUIGS.
(25 yenerilsei)

Database sigd ugGHHemen alend@s.

LOBMVSHNE BihauTsSHeud elwruny BoeuaisHad Sraysd SMSHRT LLGILTL Q6T
olend@s.

BTSN 6TQID DmWUTed Ualudd USRS 2 STTMISHIL T lensEs.
field, data type, field size, field property
2 mey ey (Relationship) 2 meurssliihousar Grrésddensn alens@s.
(25 yeneflaeir)

Window explorer siqiugsin apeowd B elenmdléGansioug wrg? Window explorer @ei
dypsner fplubwsmisene smoswTs alensEs.

Windows Xp ufls0 deiisupo Qauipenpasnen GopOsmaiaugmnsrsr Gsupiul L (PmDEenss
(methods) @AONGS.

(a) Files, folder eiaiusumenm copying, moving UeRIENIS60
(b) Files, folder eiqiusupenp delete usmigmimed

Windows Xp uflsb 2 _eiten Ueiteugpd Apluwsmsenend GO0 G alnses.

(a) Any three items in control panel
(b) Shutdown option
(¢) Search option

Word processing 2003 ulleb 2_eften Uefieupd USRS oG 5.

(a) Paragraph alignment
(b) Table creation

(c) Header and footer
(d) Document view

(e) Page setup

Word processing 2003 ulled mail merging ufleit ug(psnpuisnst alensd@Gs.
(25 yenefaei)
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04.

0]

(i)
(iii)

(iv)

49

MS Excel 2003 @& gm esnyiemen (Chart) swrfiugnes GCoeneuuren
LIQ(LPENDEEN6T  6T(LPHIB.

Sorting data, Filtering data, Pivot Table u@w usEisamen Gaupubsd alnbGs.
Ueieumsuaieupenp QeuiusnaTest GSHTHHMmen (SIS
(a) Bupdyl Guuuwrers Cauialmens safiigse. g 2007.

Sy epur. 500,000/-
Bundl Gupiod epum.  20,000/-
SLU4L.  BITEVLD 5 eumLLD

(b) @yahoo.com agid ugsdmen 5 (peop LY 6PRHIUSDE.

(c) = sheet3!A10 aigiugenmed elenmiGeugl eleien?

(d) sprsfuiemend samigse Bl: BS eggiLer 60,70,80,90

(e) 7,8 agud @wsssda alflurssnsala amlGs Cpransuimeard &aigse

Cell pointer oyang worksheet ullsd gsTeug @ SBLHSO 2 eleng 6o JDOTANSSHIS
Garen(® Uataumnd SilLauamemiuiemar SigluemLWTS eweuggl  absolute formula
WeoaiLuaLuGSE  @alarm  amgdémasutamGesew  LjsHGuswrar  Fydlmed
STUSDETE GHEHATSEDNT 611pS1H.

Jan Feb Mar
Mr.White 1250 5230 4250
Mr.Blue 3250 2500 4750
Mr.Red 4800 5200 3260
Commision 5%
Commision for the sales representatives
Mr.White
Mr.Blue
Mr.Red

dpsrguid S suamemuisd 2 sfenauniienst QFWiuBDHETEN Ligpenpeniouilensst sipSHIS.

(a) Al,BI1,CI,DLELFI

(b) B4 ToD5
(c) B7To D8
(d) B10 To D11
(e) F3ToFe6
& 8, | This Text is |
\\“‘i& BEB ghls text! Centered |
£ oS S 73 §$rapped§vertically and !
2 8 & i Hoti :
S ’\Q"} 2 = £ & toleh ! Harisantally IThis text is shrunk to fit in this cell
, « _ ‘Align Left , 0 ndent
This six cells merged into one cell | _ Align Left |1 Indent

and bordered and centere ) ~; Align feft, 2 Indent
f 5 ~ Align Lsft, 3 Indent

Thic six cells merged into one cell
and double line bordered and aligned
to horizantal left

(39Y3IN TVILLHIA

]

(25 yeirefasir)
L2343
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